





























Recursive definition for V*(S)

$$V^{*}(s) = E[\sum_{t=0}^{\infty} \gamma^{t} r_{t}] \qquad \text{assuming actions are} \\ \text{chosen according to the} \\ \text{optimal policy, } \pi^{*}$$

$$V^{*}(s_{1}) = E[r(s_{1}, a_{1})] + E[\gamma r(s_{2}, a_{2})] + E[\gamma^{2} r(s_{3}, a_{3})] + \dots]$$

$$V^{*}(s_{1}) = E[r(s_{1}, a_{1})] + \gamma E_{s_{2}|s_{1}, a_{1}}[V^{*}(s_{2})]$$

$$V^{*}(s) = E[r(s, \pi^{*}(s))] + \gamma E_{s'|s, \pi^{*}(s)}[V^{*}(s')]$$

$$\mathbf{N}^{*}$$



















 \hat{Q} converges to Q. Consider case of deterministic world where see each $\langle s, a \rangle$ visited infinitely often. *Proof*: Define a full interval to be an interval during which each $\langle s, a \rangle$ is visited. During each full interval the largest error in \hat{Q} table is reduced by factor of γ Let \hat{Q}_n be table after n updates, and Δ_n be the maximum error in \hat{Q}_n ; that is $\Delta_n = \max_{a} |\hat{Q}_n(s, a) - Q(s, a)|$ For any table entry $\hat{Q}_n(s, a)$ updated on iteration n+1, the error in the revised estimate $\hat{Q}_{n+1}(s,a)$ is $|\hat{Q}_{n+1}(s,a) - Q(s,a)| = |(r + \gamma \max_{a'} \hat{Q}_n(s',a'))|$ Use general fact: $-(r+\overset{^{u}}{\gamma}\max_{a'}Q(s',a'))|$ $\left|\max_{a} f_1(a) - \max_{a} f_2(a)\right| \le$ $\max_{a} |f_1(a) - f_2(a)|$ $= \gamma |\max_{a'} \hat{Q}_n(s', a') - \max_{a'} Q(s', a')|$ $\leq \gamma \max_{a'} |\hat{Q}_n(s', a') - Q(s', a')|$ $\leq \gamma \max_{s'',a'} |\hat{Q}_n(s'',a') - Q(s'',a')|$ $|\hat{Q}_{n+1}(s,a) - Q(s,a)| \leq \gamma \Delta_n$ Tom Mitchell, April 2010

Nondeterministic Case

Q learning generalizes to nondeterministic worlds Alter training rule to $\hat{Q}_n(s, a) \leftarrow (1-\alpha_n)\hat{Q}_{n-1}(s, a) + \alpha_n[r + \max_{a'} \hat{Q}_{n-1}(s', a')]$ where $\alpha_n = \frac{1}{1 + visits_n(s, a)}$ Can still prove convergence of \hat{Q} to Q [Watkins and Dayan, 1992]

<u>ML</u>

Tom Mitchell, April 2010

Temporal Difference Learning $Q \text{ learning: reduce discrepancy between successive} \\ Q \text{ estimates} \\ \text{One step time difference:} \\ Q^{(1)}(s_t, a_t) \equiv r_t + \gamma \max_a \hat{Q}(s_{t+1}, a) \\ \text{Why not two steps?} \\ Q^{(2)}(s_t, a_t) \equiv r_t + \gamma r_{t+1} + \gamma^2 \max_a \hat{Q}(s_{t+2}, a) \\ \text{Or } n? \\ Q^{(n)}(s_t, a_t) \equiv r_t + \gamma r_{t+1} + \dots + \gamma^{(n-1)} r_{t+n-1} + \gamma^n \max_a \hat{Q}(s_{t+n}, a) \\ \text{Blend all of these:} \\ Q^{\lambda}(s_t, a_t) \equiv (1-\lambda) \left[Q^{(1)}(s_t, a_t) + \lambda Q^{(2)}(s_t, a_t) + \lambda^2 Q^{(3)}(s_t, a_t) \right] \\ \end{array}$

Temporal Difference Learning

$$Q^{\lambda}(s_t, a_t) \equiv (1 - \lambda) \left[Q^{(1)}(s_t, a_t) + \lambda Q^{(2)}(s_t, a_t) + \lambda^2 Q^{(3)}(s_t, a_t) \right]$$

Equivalent expression:

$$Q^{\lambda}(s_t, a_t) = r_t + \gamma [(1 - \lambda) \max_a \hat{Q}(s_t, a_t) + \lambda Q^{\lambda}(s_{t+1}, a_{t+1})]$$

 $TD(\lambda)$ algorithm uses above training rule

- Sometimes converges faster than Q learning
- converges for learning V^* for any $0 \le \lambda \le 1$ (Dayan, 1992)
- Tesauro's TD-Gammon uses this algorithm

Tom Mitchell, April 2010

ML

















ML

Tom Mitchell, April 2010